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h 4

main()

h 4

- seed

h 4

{0x123,0x234,0x345,0x456} - init_key][]

h 4

4 - key_length

\ 4

init_genrand(seed)

h 4

init_by array(init_key[]

,key_length)
\ 4
O — i
i+1 - i
r'y
A
v genrant_int32()
A
i 1000
Yes
No




main

init_genrand init_by_array
genrand_int32

init_genrand

0

i i-1 EXOR

623
init_by_array

i i-1 init_genrand

EXOR
623
0 0 0x80000000

genrand_int32

(2)(624n+1) (n=0,1,2,...)
0 227 AND OR EXOR
228 623 AND OR EXOR
AND OR EXOR Yy
(b)
y AND EXOR



(1)

)
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main
A EDa—)

| DOUT,WE,ADDR]

| DOUT ,WE,ADDR]

T DIN,RE,ADDR |

| DOUT WE.,ADDR]

=| DIN,RE,ADDR |
2:
value
START init_genrand
init_genrand END
START init_by_array
init_by_array END
START genrand_int32
FIRST
genrand_int32 END
value
value
CLR 1
WE 1 ADDR DOUT
RE 1 ADDR DIN
WE RE 1 WE



1 1
1 1
init_genrandfinit_by arrayjgenrand_int32] main
1246 3119 1873 1 6239
1246 4988 1815 0 8049
623 1247 0 0 1870,
623 1872 625 0 3120
623 1247 1025 0 2895
AND 0 0 3065 0 3065
OR 0 0 1021 0 1021
EXOR 623 2494 2046 0 5163
4984 14967 11470 1 31422

80%



624 2
2: 624
init_genrandfinit_by arrayjgenrand_int32] main
1246 3119 2496 624 7485
1246 4988 1815 0 8049
623 1247 0 0 1870,
623 1872 625 0 3120
623 1247 3517 0 5387
AND 0 0 4311 0 4311
OR 0 0 1021 0 1021
EXOR 623 2494 4538 0 7655
4984 14967 18323 624 38898
624 1
624
genrand_int32 main
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4.2

Verilog-HDL
(D)init_genrand
(2)main init_genrand
(3)init_by_array
(4)main init_by_array
(5)genrand_int32
(6)main genrand_int32
(1) init_genrand
init_genrand 3

(0)

(>>30 )

|| T

CLR
o

(1)0)

START

3 init_genrand
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init_genrand 3

3 init_genrand

00 | END = 0; WE = 0; if(START) goto 01, else goto 00; 00,01
START 00 START 01
01 | regl=s;reg2=s;i=0; 08
02 | if(i<624) goto 03; else goto 12; 03,12
03 | templ =reg2 >> 30; 04
04 | temp2 = reg2 ™ templ; 05
05 | temp3 = 1812433253 * temp?2; 06
06 | regl =i + temp3; 07
07 | reg2 = regl; 08
08 | ADDR =i; DOUT = regl,; 09
09 | WE =1, 10
10 | WE =0; 11
11 |i=i+1; 02
12 | END=1; 00
13
init_genrand
START=1 END=1
2 i i-1
ADDR DOUT WE=1
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(2)init_by_array

init_by_array 4

(x 1664525 P EXOR,

L RH2

C Ox80000000 2

START2

4 init_by _array

init_by_array 4

4 init_by array

DIN

00 | END2 = 0; WE2 = 0; RE = 0; if(STARTZ2) goto 01, else goto 00; 00,01
START2 00 START2 01
01|i=1;j=0;k=0; 02
02 | ADDR2 =0; RE =1; 03
03 | DIN 1 04
04 | reg2 = DIN; DIN 05
05 | RE=0; 06
06 | if(k<624) goto 07; else goto 37; 07,37
07 | ADDR2 =i; RE = 1; 08

13




08 | DIN 1 09
09 | regl = DIN; 10
10 | RE =0; 11
11 | if(j==0) goto 12; else goto 13; 12,13
12 | reg3 = 0x123; 13
13 | if(j==1) goto 14; else goto 15; 14,15
14 | reg3 = 0x234; 15
15 | if(j==2) goto 16; else goto 17, 16,17
16 | reg3 = 0x345; 17
17 | if(j==3) goto 18; else goto 19; 18,19
18 | reg3 = 0x456; 19
19 | templ =reg2 >> 30; 20
20 | temp2 =reg2 ™ templ; 21
21 | temp3 = 1664525 * temp2; 22
22 | temp4 = regl ™ temp3; 23
23 | temp5 =reg3 + temp4; 24
24 | regl = j + tempb; 25
25 | ADDR2 =i; DOUT2 = regl; 26
26 | WE2 =1, 27
27 | WE2 =0; 28
28 | reg2 = regl; 29
29 |i=i+1;j=j+1; k=k+1; 30
30 | if(i>=624) goto 31 else goto 35; 31,35
31 | ADDR2 = 0; DOUT?2 = reg2; 32
32 | WE2 =1, 33
33 | WE2 =0; 34
34 |i=1,; 35
35 | if(j>=4) goto 36 else goto 06; 06,36
36 |j=0; 06
37 | k=0; 38
38 | if(k<623) goto 39; else goto 58; 39,58
39 | ADDR2 =i; RE =1, 40
40 | DIN 1 41
41 | regl = DIN; 42
42 | RE=0; 43
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43 | templ = reg2 >> 30; 44
44 | temp2 = reg2 ™ temp1; 45
45 | temp3 = 1566083941 * temp2; 46
46 | temp4 = regl ™ temp3; 47
47 | regl = temp4 - i; 48
48 | ADDR2 =i; DOUT2 = regl; 49
49 | WE2 =1, 50
50 | WE2 =0; 51
51 | reg2 = regl; 52
B2 |i=i+1l, k=k+1; 53
53 | if(i>=624) goto 54 else goto 38; 38,54
54 | ADDR2 = 0; DOUT2 =reg2; 55
55 | WE2 =1; 56
56 | WE2 =0; 57
57 1i=1, 38
58 | ADDR2 = 0; DOUT2 = 0x80000000; 59
59 | WE2 =1; 60
60 | WE2 =0; 61
61 | END2 = 1; 00
62
init_by_array init_genrand
START2=1
END2=1 init_by_array
ADDR?2 RE=1
DIN
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(3)genrand_int32
genrand_int32 5

LR 41 (AND) (0]624) (2271623) (110}
©x20000000) [ mt XL ey

(e )
Loz42  [MANDJROR o ) HADDR
CLK

CLR
EXORMEXORRE> () EXOR)

FIRST WE3

Oiren' AND, =

~0x9908b0df

2> 1BE<15(<<)e> 1 18ANDI | = 7o

STARTS _Oxefc60000 [END3
5 genrand_int32
genrand_int32 5

5 genrand_int32

DINZ

00 | END3 =0; WE3 = 0; RE2 = 0; if(START3) goto 01, else goto 00; 00,01
START3 00 START3 01
01 | if(FIRST) goto 107; else goto 02; 02,107
02 | if(mti>=624) goto 03 else goto 87 03,87
03 | kk=0; 04
04 | if(kk<227) goto 05; else goto 32; 05,32
05 | ADDR3 = kk; RE2 = 1; 06
06 | DIN2 1 07
07 | regl = DINZ; 08
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08 | RE2 =0; 09
09 | ADDR3 =kk +1; RE2 =1; 10
10 | DIN2 1 11
11 | reg2 = DINZ; 12
12 | RE2 = 0; 13
13 | templ = regl & 0x80000000UL; 14
14 | temp2 = reg2 & OX7FffffffUL; 15
15 | y = templ | temp2; 16
16 | ADDR3 = kk + 397; RE2 = 1; 17
17 | DIN2 1 18
18 | reg2 = DINZ,; 19
19 | RE2 = 0; goto 20; 20
20 | mag0l =y & Ox1UL; 21
21 | if(mag01==0) goto 22; else goto 23; 22,23
22 | reg3 = OxOUL; 23
23 | if(mag01==1) goto 24; else goto 25; 24,25
24 | reg3 = 0x9908b0dfUL; 25
25 | templ =y >>1, 26
26 | temp2 = reg2 ™ templ; 27
27 | regl = temp2 " reg3; 28
28 | ADDR3 = kk; DOUTS3 = regl; 29
29 | WE3 =1, 30
30 | WE3 =0; 31
31 | kk =kk + 1; 04
32 | if(kk<623) goto 33; else goto 60; 33,60
33 | ADDR3 = kk; RE2 = 1; 34
34 | DIN2 1 35
35 | regl = DINZ; 36
36 | RE2 =0; 37
37 | ADDR3 =kk + 1; RE2 = 1; 38
38 | DIN2 1 39
39 | reg2 = DINZ; 40
40 | RE2 =0; 41
41 | templ = regl & 0x80000000UL,; 42
42 | temp2 = reg2 & Ox7fffffffUL; 43
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43 | y = templ | temp2; 44
44 | ADDR3 = kk - 227; RE2 = 1; 45
45 | DIN2 1 46
46 | reg2 = DINZ2; 47
47 | RE2 =0; 48
48 | mag0l1 =y & Ox1UL,; 49
49 | if(mag01==0) goto 50; else goto 51; 50
50 | reg3 = OxOUL; 51
51 | if(mag01==1) goto 52; else goto 53; 52,53
52 | reg3 = 0x9908b0dfUL; 53
53 | templ =y >>1, 54
54 | temp2 =reg2 ™ templ; 55
55 | regl = temp2 " reg3; 56
56 | ADDR3 = kk; DOUTS3 = regl; 57
57 | WE3 =1; 58
58 | WE3 = 0; 59
59 | kk = kk + 1; 32
60 | ADDR3 =623; RE2 = 1; 61
61 | DIN2 1 62
62 | regl = DINZ2; 63
63 | RE2 =0; 64
64 | ADDR3 =0; RE2 =1, 65
65 | DIN2 1 66
66 | reg2 = DINZ; 67
67 | RE2 =0; 68
68 | templ = regl & 0x80000000UL,; 69
69 | temp2 = reg2 & OX7FfFffUL; 70
70 | y =templ | temp2; 71
71 | ADDR3 = 396; RE2 = 1; 72
72 | DIN2 1 73
73 | reg2 = DINZ2; 74
74 | RE2 = 0; 75
75 | mag0l =y & Ox1UL,; 76
76 | if(mag01==0) goto 77; else goto 78; 77,78
77 | reg3 = OxOUL,; 78
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78 | if(mag01==1) goto 79; else goto 80; 79,80
79 | reg3 = 0x9908b0dfUL; 80
80 | templ =y >>1; 81
81 | temp2 =reg2 ™ templ,; 82
82 | regl = temp2 " reg3; 83
83 | ADDR3 = 623; DOUT3 = reg1,; 84
84 | WE3 =1, 85
85 | WE3 =0; 86
86 | mti =0; 87
87 | ADDR3 = mti; RE2 = 1; 88
88 | DIN2 1 89
89 | y = DINZ; 90
90 | RE2 =0; 91
91 | mti=mti + 1; 92
92 | templ =y >>11; 93
93 | temp2 =y ™ templ; 94
94 | y =temp?2; 95
95 | templ =y << 7, 96
96 | temp2 = templ & 0x9d2c5680UL; 97
97 | temp3 =y ~ temp?2; 98
98 | y = temp3; 99
99 | templ =y << 15; 100
100 | temp2 = templ & Oxefc60000UL,; 101
101 | temp3 =y ™ temp2; 102
102 | y = temp3; 103
103 | templ =y >> 18; 104
104 | temp2 =y ™ temp1, 105
105 | rand = temp2; rand 106
106 | END3 = 1; 00
107 | mti = 624; 02
108
genrand_int32 init_genrand init_by_array
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END3=1 genrand_int32 1

FIRST=1 2 FIRST=0

624n+1 rand

(4)main

main pp.8 2

main 6

6 main
00 | START =0; START2 =0; START3=0; FIRST =0;i=0; 01
01 | START =1; init_genrand 02
02 | START =0; 03
03 | if(END) goto 04; else goto 03; init_genrand 04 03,04
04 | START2 =1; init_by array 05
05 | START2 =0; 06
06 | if(ENDZ2) goto 07; else goto 06;  init_by array 07 06,07
07 | if(i<value) goto 08; else goto 14; 08,14
08 | if(i==0) goto 09; else goto 10; genrand_int32 1 09 09,10
09 | FIRST =1; genrand_int32 1 FIRST=1 10
10 | START3 =1; genrand_int32 11
11 | START3 =0; 12
12 | if(END3) goto 13; else goto 12; genrand_int32 13 12,13
13| FIRST=0;i=i+1; 07
14 14 14
15

main 32bit>=<624 init_genrand

init_by array genrand_int32

init_genrand init_by array 1 genrand_int32
S value
rand
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25
0 4294967295

19650218
3719404591 3933347911 1509182462 2945625608 2987898953
856356961 1210396626 2812813535 593820460 1666542277
3217560683 2642253538 350072595 3250968231 493759411
2490417198 166020071 2405163095 58166945 3943481778
2117096552 1327657321 3662661197 497441585 1953634444

6 19650218

5489
3873800684 1976736196 2022329381 520302692 2734537017
2131974794 57083552 1426254555 3048006859 683696486
3120873552 3949251043 160467037 4054796416 3376326592
2450056627 4230119705 3347126086 10590972 936376226
3123420508 3880932014 732727278 4039099683 2195777575

7 5489
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0
4011681375 735068510 3178372001 83836341 1249567707
1344675858 977085352 1015638510 3596196901 3392425593
4244669923 1982871838 3844575328 459019370 3092065126
4216244285 261255700 4230236973 264057851 1069332137
2273120747 1800560196 3020199887 2757054657 3358532645

3333333333
3795680350 2849545632 2657704608 3433189321 1675155795
3173731471 1289388607 1037275824 4118733263 1374367153
1850576113 305502557 2737933495 1752096561 2133681703
299146173 2345778161 154702915 1781665924 4193416359
2462335907 166439489 4224364926 3742014043 964576640

9 3333333333

100
10590972 4244669923
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31bit
8bit

300

250

rand[23:16]
= N
al o
o o

[
o
o

50
0
0 100 200 300
rand[31:24]
10 16bit

300
250
200
=)
= 150
g
100
50
0
0 100 200 300
rand[15:8]
11 16bit
25 100 8bit
24bit 23bit 16bit
7bit Obit 11
bit bit
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7 Virtex4
8
genrand_int32 2
genrand_int32
main 10.8%
1.6%
90.605MHz
1 56
(1 (90.605%10))><56
6.18><10=618ns
1 (1
(90.605><10)) 1.14x<10 =11.4ns
Device Family Virtex4
Device xc4vIx60
Package ff668
Speed Grade -10
8
() () (MH2) (%)
(%)
init_genrand 162 188 93.027 0.6 0.4
init_by_array 400 281 90.605 15 0.5
genrand_int32 514 353 200.863 1.9 0.7
main 2883 848 90.605 10.8 1.6
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C
C 12
1
1093ns
9 C
() () ()
()
100000 0.11 0.11 0.11 0.110 1100ns
1000000 1.05 1.10 1.04 1.063 1063ns
10000000 10.93 10.93 10.88 10.913 1091ns
100000000 109.64 109.91 115.56 111.703 1117ns
1.77
95.88

| AN F 20z R

f zenrand_int?3

12
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10.8%

90.605MHz

Verilog-HDL

800

26

868

56

2883

1.6%

95000



Xilinx ISE 7.1i
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